F RN
MBA 605 Exam Name: bt
September 2013

100 points fotal. Answer each question in the space provided. General advice: show your work,
including ary formulas or diagrams that you use in reasoning through your answers.

1. (15 pts.} In 1993 the market price of a four-foot alligator was $120. Approximately 350,000 four-
foot alligators were bought and sold at that price. Minimum efficient scale for a typical alligator
farmer is 3000 alligators per year. At that scale of operation, average total cost equals $150.

a) Illustrate these supply and demand conditions in the market diagram below. Then illustrate
the ATC, MC, and demand curves for a typical alligator farmer facing the 1993 market
conditions. Show the firm’s profit-maximizing output and its profits in your diagram.

b) Now imagine that you were asked in 1993 to predict the future of the industry. Given the
1993 market conditions, what do you think was likely to happen in the alligator market going
forward? Your answer should contain references to short-run and long-run profits, the
number of firms, and market price and output.
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2. (10 pts.) Boston Beer Company has determined that own-price elasticity of demand for their

premium Sam Adams lager is 5.0. Their marginal cost of producing and distributing a six-pack
of beer is $6.00. To maximize profits, they should set price at:
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(10 pts.) Currently there are 170 auto makers in China. What do you think the future holds for
automobile manufacturing in China? Predict the market structure in this industry ten fo twenty
years from now. You should incorporate into your discussion several of the W87 and Economist

articles that you have read.
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4, (10 pts.) Suppose all firms in an industry have long-run average cost curves like LAC, in the
diagram below. What kind of market structure (i.e. how many firms) do you predict for this
industry? Briefly explain your reasoning.
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Suppose all firms in an industry have long-run average cost curves like LAC; in the diagram
above. What kind of market structure do you predict for this industry? Explain.
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5. (15 pts.) A monopolist faces a market demand curve as shown below. Its AVC, ATC, and MC

curves are also illustrated.

a) What output should it produce and what price should it charge in the short run in order to
maximize profits? What will its profits be? Illustrate and briefly explain.

b) What output should it produce and what price should it charge in the Tong run if it expects

these market conditions to persist?
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6. (10 pts.) A question regarding investments in human capital. When individuals invest in general
human capital such as getting a MBA, they usually pay for it themselves. When individuals
invest in human capital that makes them more productive in their current job (such as learning
how to use proprietary software) but does not make them more productive when working for any
other firm, their employer usually pays for the cost of the training. Briefly discuss human asset
specificity, holdup, and explain why the employer usually pays for the cost of acquiring firm-
specific’ human capital,
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7. (10 pts.) Your professor has observed that people standing in front of him at the grocery store
often pay considerably less for Dove ice cream bars than he ends up paying (32 less, to be exact).
Can you explain what is going on here, using words and diagrams? Assume that
MC=AC=constant for Mars Corporation, which manufactures Dove ice cream bars. Draw
demand and other curves in the diagrams below that are consistent with your explanation.
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8. (10 pts.) An incumbent monopolist (I) is making economic profits equal to 5. A potential entrant
(E) is considering entering the monopolist’s market, creating a duopoly. If the potential entrant
stays out, it earns economic profits equal to 0. If it enters the market the incumbent monopolist
must make a decision of how to respond. If the monopolist accommodates entry by behaving
non-aggressively, each firm earns duopoly profits equal fo 2. If the incumbent monopolist
decides to respond to entry by behaving aggressively and fighting a price war, each firm suffers
price-war economic losses equal to -1.

a) Draw the game tree for this sequential move game. Explain what you think the outcome will
be.

b) Suppose the incumbent monopolist announces prior to any initial move by the potential
entrant that if any other firm enters its market, it will fight a price war. Now what do you
think the outcome of the game will be?
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9. (10 pts.) Two rivals play a one-shot simultaneous-move game. The row player has four strategy
options, and the column player has three strategy options. Their strategy options and the
associated payoffs to each are represented in the payoff matrix below. What do you predict will
be the outcome of this game? Explain how you arrive at your proposed solution.

Column Player
Left Middle Right
!
Top 9,3 6, 0 306
, !
Row Player High 6‘ 6 515%/1 5\3 { 382 9
? LRl Aoy nd
Bottom 15, 18 27,21)
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